Rang Nr.
1. 5
2. 8
3. 15
4. 10
5. 7
6. 17
7. 1
8. 6
9. 2

10. 13
11. 12
12. 19
13. 14
14. 4
15.

16.

17. 18
18. 16
19. 11
20. 20

Paarturnier - Luzern - 06.01.2025

Ergebnis (50 % =234.0 MP)

Paar
Kleinschmidt, Michael — Wiilti, Vreni
Stalder, André — Bendel, Beatrice
Smith, Craig — Filali, Renata
Furrer, Ursula — van Exel, Wendela
Gisler, Meggi — Wespi, Marlise
Schonenberger, Nada — Wirtz, Susanne
Zoller, Marion — Rubeli, Gabriela
Kiindig, Doris — Biitler, Doris
Gridel, Heidy — Briner, Maya
Wehrli-Wyss, Cristine — Nadrai, Marie-Antoinette
Wiist, Annamarie — Winter, Vreni
Bilar, Pedro — Killstrom, Curt
Walter, Marlise — Zingg, Erika
Heuri, Silvia — Schir, Rita
Fischer, Verena — Paulon, Marianne
Beylemans, Rita — Vital, Theres
Bernhardtz, Claes-Goran — Egli, Willi
Kuhn, Monica — Beylemans, Francis
Wiist, Albert — Egli-Kessler, Ursula
Schoahs, Grazyna — Senn, Peter

Paar3 —4.5 MP Karten vertauscht
Paar 12 —4.5 MP Karte vertauscht

Turnierleitung: Grazyna

MP
311.0
305.0
284.0
282.0
274.0
267.0
254.0
251.0
243.0
241.0
240.5
240.0
212.0
203.0
201.5
190.0
178.0
178.0
170.0
146.0

%
66.45
65.17
60.68
60.26
58.55
57.05
54.27
53.63
51.92
51.50
51.39
51.28
45.30
43.38
43.06
40.60
38.03
38.03
36.32
31.20

PV
15
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